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(a) Is this relation transitive and symmetric 

{(1,2), (2,3), (1,3), (2,1)} 
  
(b) Prove that power set of a transitive set is transitive. 
  
(c) Let A, B, and C be 3 events associated with a random experiment. Express the 
following verbal statements both in set theory notation and by means of Venn diagrams: 

(a) At least 1 of the events occurs; 
(b) Exactly 1 of the events occurs; 
(c) Exactly 2 of the events occur; 
(d) Not more than 2 of the events occur simultaneously; 
(e) All of the events occur; 
(f) None of the events occur. 

  
(d) Prove that for all sets A, B, and C, 

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C) 
  
(e) Give an example of a relation which is not reflexive, not symmetric, not antisymmetric, 
and not transitive on a set {1,2,3} 
  
 
 


